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; 100kN/MZ#8% % - ~ -[3mZEBZS ~ - -| 100kN/mM%#8Z% % - ~ -[3mZERBZ S ~ -
ZznLst 1.00 | 0.00 ~ 5682 72.82 | =N | 000 ~ 0.00)| 1.58 7.96 ZzhnLst 1.00 | 5.00 ~ 7.10 72.82 | #nLS | 600 ~ 710 | 1.68 7.96
2 100kN/MZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mERBZ S ~
ZzhnLst 1.00 | 0.00 ~ 545 67.97 | LS | 000 ~ 545| 1.82 9.19 ZzhnLst 1.00 | 5.00 ~ 6.04 67.97 | #nLS | 5,00 ~ 6.04 ) 1.82 919
3 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mZE#BZ S ~
ZzhnLst 1.00 | 0.00 ~ 685 86.63 | st | oo ~ 000|161 813 ZzhnLst 1.00 | 5.00 ~ 9.02 86.63 | =N | 5,00 ~ 9.02 | 1.61 813
4 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mZE#BZ 5 ~
ZznLst 1.00 | 0.00 ~ 711 90.36 | =S | 000 ~ 711 1.81 9.15 ZzhnLst 1.00 | 5.00 ~ 9.00 90.36 | =S | 5,00 ~ 9.00 | 1.81 915
5 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mZERBZ S ~
ZzhnLst 1.00 | 0.00 ~ 6.06 76.02 | =N | 000 ~ 606 1.87 9.44 ZzhnLst 1.00 | 5.00 ~ 718 76.02 | EnLS | 600 ~ 718 1.87 9.44
¢ 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mERBZ S ~
ZznLst 1.00 | 0.00 ~ 536 66.80 | =N | 000 ~ 0.00| 1.60 810 ZznLst 1.00 | 5.00 ~ 6.10 66.80 | =nLs | 5,00 ~ 6.10 )| 1.60 810
. 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8Z% % ~ -[3mZERBZ S ~
st 1.00 |1 0.00 ~ 581 72.74 | EnLSY | 000 ~ 000 1.72 8.68 ZznLst 1.00 | 5.00 ~ 6.563 72.74 | EnLS | 6.00 ~ 663|172 8.68
g 100kN/MZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mZERBZ S ~
ZznLst 1.00 | 0.00 ~ 5.63 70.37 | =LY | 000 ~ 0.00]| 1.61 814 ZznLst 1.00 | 5.00 ~ 6.53 70.37 | EnRS | 6,00 ~ 6.63 | 1.61 814
g 100kN/MZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mZE#BZ 5 ~
ZzhnLst 1.00 | 0.00 ~ 547 68.26 | TN | 000 ~ 000 1.57 7.96 ZznLst 1.00 | 5.00 ~ 6.46 6826 | TN | 6,00 ~ 6.46 | 1.67 7.96
10 100kN/MZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mZERBZ S ~
ZznLst 1.00 | 0.00 ~ 5.39 67.27 | =LY | 000 ~ 0.00)| 1.59 8.03 ZznLst 1.00 | 5.00 ~ 6.24 67.27 | #nLS | 5,00 ~ 6.24 | 1.69 8.03
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
zhnLs ~ Fhn st ~ zhLst ~ Fhn st ~
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
zhnLs ~ Fhn st ~ zhLs ~ st ~
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhnLs ~ Fhn st ~ zhLs ~ st ~
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhLs ~ st ~ zhLs ~ st ~
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
ZhLS ~ Zh st ~ zhst ~ Zzh st ~
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